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90,000
210,000

550,000

250,000

500,000

550,000

A50,000
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SN SAXED
HE: PLST MRSy
Shol: DEE DaMa (crol: M)
. , - PSEL= =
S - BB O(B3H) - HRAY - BES Ofl At Gl Arod s
O FIAl: DESAISEIEHIRA (45S)
500,000, 0002 500,000
| 200,000
= 90,000
2 210,000
DA 180,820 160, 120 20,700
201 Yty 4,070 4,070 0
01 Al 22l 4,070 4,070 0
O Ysag| 2,600
0 HHFS TAHTY 60,0002 #5Z+25 600
0 H+DSLIIE NZHE
10, 00024+ 10052+25] 2,000
O 3ZHI(ULSH P2EX)
7,0002443215704! 1,470
202 04t 7,200 7,200 0
01 =LHOIH| 7,200 7,200 0
O OlHI(B4SH R4s)
200,00021%321+ 122 7,200
206 24| 6,000 6,000 0
01 THEH] 6,000 6,000 0
O+ SHHHE ASLR= 2
1,500, 00024%25 3,000
OU-ITOIS ROIHBUZAILE E& g
500,00021+674 2 3,000
301 YA 3,650 3,550 0
09 EAII 2 &S 3,650 3,550 0
OX2 HEDS BADY
25,00024+50Z+29} 3| 2,500
Ol 1S ¥ BWs| A4
7,000 +502H =3} X2 8F 1,050
402 RIRHR 20| 160,000 139,300 20,700
01 SN EAIES 160,000 39,300 20,700
ODNBH AEBHMA(BIZX) X
3021%1,250, 0000H+50% 20,000
ODBH ADYAH(BIAZE) NI
120, 00024 *500 E+50% 30,000
OAD MBS 84 NS AlY
20,000, 00024274 A#50% 20,000
O+ RSH)| &7l N
10,000, 00021 %274 A#50% 10,000
OXlelat Jiss YR S4
60,000, 00024 50% 30,000
OB o =523 B AlgAY
20,000, 000217 A#50% 10,000
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K& ol
O 4> 12
U Jn >

JalF

Wz

0z 1R
0x

oy
0

0

$
P
rio

S - BB () - HRAY - BaES

>
12

P |

[yl

Ol &k2K

0

Osdidliel HIotE AlE AlY
80,000,000 *1JH 2-+50%

40,000

A

140,000

40,000
100,000

210,000

A70,000

M H

140,000

40,000
100,000

210,000

/70,000

140,000, 000&

M H

140,000

140,000

40,000
100,000

210,000

A70,000

M

106,894

44,697
62,197

71,400

35,494

M H

106,894

44,697
62,197

71,400

35,494

87,500,000

M H

O =0l &30 X 19,394,000&

M H

106,894

87,500

35,000
52,500

19,3%4

9,697
9,697

71,400

35,494

H A

45,000

18,000
8,100
18,900

45,000

AW

45,000

18,000
8,100
18,900

45,000

OSEXS(HA)UAALE
90,000,000 *1JH 2-*50%

H W

45,000

45,000
18,000

8,100
18,900

45,000

MW

100,000

50,000
50,000

100,000

Mo

100,000

50,000
50,000

100,000

100,000

100,000
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SN SATIAD
HE: SEMBTAAY
ol SEXRAY (Er9): &)
- _ _ PlEL=
SA - HY - BAGEH) - NRAY - BAS Ofl st Gl atou HI DS
201 Yur2y| 5,000 13,000 28,000
= 2,500
2 2,500
03 A2 5,000 10,000 5,000
O HERHEEI|E ASHAAI
5,000,00024+13] 5,000
= 2,500
2 2,500
206 THE | 5,000 4,000 1,000
= 2,500
2 2,500
TR 5,000 4,000 1,000
O HERHEEI|E ASHAAI
5,000,00024+13] 5,000
= 2,500
2 2,500
207 1IN 7,000 0 7,000
= 1,400
2 5,600
01 AT EAY| 7,000 0 7,000
O SE0S AL AlZAIY
7,000,002+ 1] 7,000
= 1,400
2 5,600
01 LB BAZ 4,000 3,000 1,000
= 2,000
2 2,000
06 EI2rI=2l0i] 4,000 0 4,000
O =ZDS=T SAWY XA
4,000,000211% 4,000
= 2,000
2 2,000
307 2120l & 90,000 5,000 85,000
= 45,000
2 45,000
02 SIFBAAZEE 90,000 5,000 85,000
O SEL-oMST 0SSy
5,000,00024+1H 5,000
= 2,500
2 2,500
O BIIEISTAZASAILAS
5,000,00024+1H 5,000
= 2,500
2 2,500
O NYsSHsH ABAY
20,000, 00024 +474 2 80,000
= 40,000
2 40,000
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SN SATIAD
Hu: SEMSTRAY
9l SETIRAIY (E491: &)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
402 QIHXHR0I 10,000 25,000 15,000
= 3,000
2 7,000
NEEDENEES 10,000 25,000 15,000
O sXYANS A0S S
10,000,00024* 174 0,000
= 3,000
2 7,000
N EEEE 8,000 28,000 220,000
201 LBr2SH| 8,000 8,000 0
01 AR 22l 8,000 8,000 0
O LA ZESS2S DS ALY
1,000,00024+6% 8,000
20| ¥ 018 ABILE JlzDS 6,900 5,000 1,900
2 3,450
2 3,450
201 LBr2H| 2,400 1,400 1,000
2 1,200
2 1,200
01 AR 22l 2,400 1,400 1,000
O ZAE 300, 00021483 2,400
2 1,200
2 1,200
206 24| 4,500 3,600 90
2 2,250
2 2,250
01 2t 4,500 3,600 900
asTEY| 30,0002+ 150% 4,500
2 2,250
2 2,250
SEZ2 28 (ISHALE =4 50,000 0 50,000
=2 25,000
2 25,000
307 BI2F0I R 10,000 0 10,000
2 5,000
2 5,000
EEETONEEES 10,000 0 10,000
O RET 8 I2FYH Z2IU2Y
10,000,0002* 174 10,000
2 5,000
2 5,000
402 QIRHXHZ0IH 40,000 0 40,000
= 20,000
2 20,000
EEDEENEEES 40,000 0 40,000

- 628 -




SN SATIAD
HE: SEMBTAAY
9l SETIRAIY (E491: &)
- _ _ P |
A - BH - HA(SH) - MRAY - BES Ol &FoH ‘Oflﬂa'ﬁ HwEZ
O S5z 28 Dl=adat 24
40,000, 00024174 40,000
=2 20,000
2 20,000
SENETABINAAY 20,000 0 20,000
= 0,000
2 10,000
402 RIRHRH=0IH 20,000 0 20,000
= 10,000
2 10,000
EEDENEEES 20,000 0 20,000
O SEMEZEZHNL  5,000,00020x4744 20,000
= 10,000
2 0,000
SEEEREE e 100,000 0 100,000
= 50,000
2 50,000
307 BI2FOIF 20,000 0 20,000
= 10,000
2 10,000
02 DI B HAIEE 20,000 0 20,000
O HONOIEHABSK|
20,000, 0002%1JH 20,000
= 10,000
2 10,000
402 RIRHXHR0I 80,000 0 80,000
= 40,000
2 40,000
EEDENEEES 80,000 0 80,000
O HONQIAYHASST|
80,000, 0002+1JH 80,000
= 40,000
2 40,000
MBS 243,220 38,710 105,490
= 25,000
X 50,000
= 5,920
2 162,300
OlEsR0l SH2Y 59,620 62,510 12,890
201 LBr2 | 23,470 23,960 A0
01 A= 22l 23,470 23,960 A0
O gr2g| 12,000
0. MESSHIZ 228  1,000,0002x122 12,000
O SHI(MBRAREX)
7,00024x3215704] 1,470
O 2949 10,000
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SN SATIAD
HE: SEMBTAAY
el MEr2 LAY (Er9): &)
3 _ _ MNEST
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
0. BENME] SIIEIATEl TARD
200,00024+203] 4,000
0.E2% M20IP3| BHHE AL
200,00021+203] 4,000
0. MEBUSIZDS SASY  200,0008453] 1,000
0.0i8F 235t DAT SASY
200,00024+53] 1,000
202 018 7,200 9,600 £2,400
ENKE] 7,200 9,600 £2,400
O OlEI(MEREAR48)
200,00024+301 122 7,200
206 28| 22,600 22,600 0
TS 22,600 22,600 0
O B=2g 27 WA SR
2,000,00020+5742] 0,000
O S 4EjM3 LR
600,00020 11744 6,600
05 %2 ME2HH 2EH2TL
300,002+ 105 3,000
O SZ0SX2E DYAT ASH2
300,002+ 103] 3,000
01 LB BAS 6,350 6,350 0
09 EAAEI2AS 6,350 6,350 0
O 42Hesl DS OlECHE Ea2a
10,0002/%2021+103] 2,000
O 424M3 SIIEISHE EaB
10,0004 15214531 750
O SIS J|SDSE FASY  7,000241002! 700
O S&E0S M25 DYUH HABY
7,0002+2000! 1,400
O 4EHe T U Y DT FABY
30,00024+500! 1,500
Ol LSAIXIR 10,000 10,000 0
402 BIRIXHZOIF 10,000 10,000 0
01 ERIIEANEEE 10,000 10,000 0
O OIEULNE 2S5 N
10,000, 00024%12H 2 0,000
Q112 ) & BO| ZHI K| 50,000 100,000 250,000
X 25,000
2 25,000
307 BI2F0IF 10,000 10,000 0
X 5,000
2 5,000
02 BRIFAANEEE 0,000 10,000 0
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A SN
Hu: SEMSTRAY
ol MBS R
- _ _ PlEL=
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
O =xoeZhe HoRbZad ¥ u=
10,000, 00021%17H 2 10,000
X 5,000
2 5,000
402 DIXHZ0IF 40,000 90,000 250,000
X 20,000
2 20,000
01 BRIEANEEE 40,000 90,000 250,000
O SXHEANLBEOIZYI X
40,000,00024* 1744 40,000
X 20,000
2 20,000
S TIEST PN 23,600 26,200 £2,600
= 5,920
2 17,680
201 LBr2| 18,600 18,600 0
= 4,020
2 14,580
01 AFR22IH] 18,600 18,600 0
O 42jMs J2XIX 40,00024+4405 17,600
= 3,520
2 14,080
O AHINHSYSY AR 500,00024+2CH 1,000
= 500
2 500
206 24| 2,000 0 2,000
= 1,000
2 1,000
01 2t 2,000 0 2,000
O AHINHSLSS HEH| 1,000,00024+23] 2,000
= 1,000
2 1,000
402 QIRIXHZOIF 3,000 3,600 2600
= 90
2 2,100
01 BRIIZAIEEE 3,000 3,600 2600
O FMXLSH2BRA 3,000,001 3,000
= 90
2 2,100
SEALZA0IE B4 50,000 150,000 100,000
X 25,000
2 25,000
307 BIRH0IH 25,000 60,000 235,000
X 12,500
2 12,500
02 BRIZAAERE 25,000 60,000 35,000

- 631 -




SN s
R =EMSTISIALY
A

CHol: MB2 AL (St me)
i rIEL -
SA - M. G2(SH) - HEAY - BE=2 O Ak lOﬂ/'].ou HluszZ
O SEATEA0IS SA(LZEF0N
25,000,000 %11 A 25,000
Xl 12,500
o 12,500
402 DIZ=01E 25,000 90,000 285,000
7 12,500
o 12,500
01 BIZEAI2AIEE X 25,000 90,000 265,000
O SEAATANS SH(5129101)
25,000,000& %11 A 25,000
N 12,500
o 12,500
o OEE oNDE) A ABAY 50,000 0 50,000
2 25,000
2 25,000
307 2I2t0| & 10,000 0 10,000
= 5,000
= 5,000
02 QIZFAAAIEE T 10,000 0 10,000
O mou EE OHEBR| AF AMAY A
S =TI = 10,000,000 * 11 A 10,000
= 5,000
2 5,000
402 CIZHXHE0| A 40,000 0 40,000
= 20,000
o 20,000
01 BIZEAIZ2AIEE X 40,000 0 40,000
O moY EY oEB2| AT
40,000, 00021 1} 4 40,000
2 20,000
o 20,000
CEER T 399, 434 496.075 ~96.641
= 49,950
c 6,000
o 343,484
KNFEHLS JI=HE 399,434 496,075 A96,641
2 49,950
c 6,000
o 343,484
NEESLSHARRA 37,670 132,670 295,000
201 LBt AH| 4,970 1,470 3,500
01 AF22te|H] 4,970 1,470 3,500
O SwusHE ol 2B Y
2,000 %x50082+23] 2,000
O EXHE HEXHI 1,500,000 *13] 1,500
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2A: XD
g XS9Se Muols
=l XNES43 Jlsheg (et &)
S - - BREH) - MRAR - BaS of vt o HI DS
O SgHl(sgHegRFN)
7,0003#321x704] 1,470
202 Ol 7,200 7,200 0
01 =LHAOLI 7,200 7,200 0
O OHl(sYHLR+8)
200,000&%321x12& 7,200
206 =4 17,500 16,000 1,500
01 MZH] 17,500 16,000 1,500
O ELHFE A, =A7Y 17,500
0 B5UQ| 268 400,0002 *25& 10,000
0 HI0IH2l 105 250,000& %105 2,500
0 EZHEII| =2 1,000,000&*12 1,000
0 icp OF=22I0tA 250,000 x163] 4,000
301 2et2Hs 2,000 2,000 0
09 ALAHI2aE 2,000 2,000 0
O DBF & YUDT FHBA
50,0002 *40H 2,000
405 AHaHE SHI 6,000 6,000 0
01 TR ESFISHI 6,000 6,000 0
O Eddd JpI2= 6,000,000 6,000
ASANEEE 29 151,064 168,005 16,941
101 2244 44,714 36,655 8,059
04 JItN22 RS2+ 44,714 36,655 8,059
O ASAIZEE 2] QI2Y 12,875
0JlE= 48,2403 %121x2002 9,648
0 =x=g 48,2402 %1Q1x40 1,930
0 =pIALESE= 10,016,000&+3.035% 304
0 =2l= 10,016,0002%4. 5% 451
0 AHHEEE 10,016,000 *4% 401
0 1E8=28s 10,016,000 1.3% 131
0 LRIEVIRAYTE= 304,000&*3.275% 10
O AZNEEY 29 olzy
48,2402 +621+60 17,367
O FAFH E2, ASAAE 2SR
48,2403+621x50 14,472
201 2etE2g| 16,350 16,350 0
01 Ar2t2|H] 5,400 5,400 0
OsgHe AIZ=Al 2| 300,000&*10= 3,000
O SAIEEE 2| 200,000&*12& 2,400
02 5=t 10,950 10,950 0
oMIIea 4,200
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SN 5
I‘liH:
e

NSz o=
NSEE3} JlsHeE

[
$
P
rio

Sl

SN - B - SR(SH) - NRAY - BES ofl by Gl o ElmE==T
0.23AIEE 2= 350,000&x12& 4,200
O ZH| 6,750
0.=sHMLAlA 2,000,000&*33 6,000
0.=I1H 250,000&*3CH 750
206 M= 4| 65,000 65,000 0
01 M=Hl 65,000 65,000 0
OMBNEEE 2828 I 7Y
2,000,000&*10& 20,000
OBAFH €2 32 7Y
5,000,000&*63 30,000
OLSTAME AT 3,000,000&*53 15,000
401 AlZHIL SR 0HY] 25,000 50,000 A25,000
01 AlIEHI 25,000 50,000 A25,000
OMLAIE SH2A IR 3,750,000204S 15,000
ONSAEER HILIRA AlLIHA
10,000,000 * 1= 10,000
A2 AERR 14,000 54,400 40,400
< 6,000
[ia 8,000
202 (44| 5,000 5,000 0
= 1,500
i 3,500
04 =2 Xz 5,000 5,000 0
ASUHB S JIETS
5,000,000& 12! 5,000
= 1,500
i 3,500
402 212EXH201 M 9,000 49,400 240,400
= 4,500
i 4,500
01 QIF=EAM S E L 9,000 49,400 240,400
O B IRl WHIIE Al
3,000,000&* 1042 3,000
= 1,500
s 1,500
O FSFSAS BNET| AL
6,000,000& * 1042 6,000
= 3,000
i 3,000
ELQATARY (WS HSEHEI =XIR) 21,200 22,000 A800
= 12,200
[ia 9,000
101 @I1244| 18,000 22,000 24,000
= 9,000
i 9,000
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A SRR
Ha: X|iSst KIS
ol XIeiSast JIEohe (Er9): &)
- _ _ PlEL=
S - ZE - SI(SIH) - HRAIY - BAS 0] apot Sl o HlRE2
STV =P =TE 18,000 22,000 4,000
O EYAT o= 18,000, 0002 18,000
2 9,000
2 9,000
206 TH2H| 3,200 0 3,200
2 3,200
01 2t 3,200 0 3,200
O WAS SEIZH ELAAH 2,200,000 2,200
2 2,200
O 2= MFXBAY EAAAH]
1,000, 0002 1,000
2 1,000
ERTESSCNEYS 25,500 19,000 6,500
= 12,750
2 12,750
101 Q1218 7,500 8,500 A1,000
= 3,750
2 3,750
04 IRIN2ENEES 7,500 8,500 A1,000
O oz Hzs 29 o=y 7,500,002 7,500
2 3,750
2 3,750
201 LBr2H| 6,300 6,300 0
= 3,150
2 3,150
01 AFR22IH] 6,300 6,300 0
O A2t 6,300
0 EERY UMD 3,500,002 144 3,500
2 1,750
2 1,750
0 HoHE WH =2 460,00021+53] 2,300
2 1,150
2 1,150
0 HHE TATY 100, 00021455 500
2 250
2 250
206 24| 11,700 4,200 7,500
2 5,850
2 5,850
01 2t 11,700 4,200 7,500
O MEY 22 2% W2 22 1,000,008 1,000
2 500
2 500
O gasBaE 29 H27Y(2al, H)
300,0002%574 2 1,500
2 750
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SN ST
ma: XeSst WIS
oHel: XISiSast JlEle (el &8)
. , - PSEL= =
A - 33 - SRA(3A) - 2N - BYS Ofl koK Ol] AkoH HwsSZ
o 750
O YHSREE 29 WE7(2T},01s)
00,0002 x22+20H A 1,200
2 600
2 600
O YHSDEE 2% YE7Y(E)
300, 0002501 1,500
2 750
o 750
O =2 Hohs LR NB(sae)
6.500,0002! 6.500
2 3,250
2 3,250
EEERE 50,000 100,000 50,000
2 25,000
2 25,000
402 SI2HXH=0IH 50,000 100,000 A50,000
2 25,000
2 25,000
0T UL GEANEEE 50,000 100,000 50,000
O UR SHNS HFMY JIS2T AAY
1244450, 000, 0002 50,000
2 25,000
2 25,000
BB 80,000 0 80,000
402 SI2HTH20IH 80,000 0 80,000
0T UL EANEEE 80,000 0 80,000
O b MTHHHI | SBAY Al
10,000, 0002527} 20,000
O HDBIW SX2Y Al
10,000, 00021527} 4 20,000
O @&y FHHK 2% Al
20,000,000+ 1) 20,000
O 21012 THHSK SSARK(144)
20,000, 0002 20,000
zg2IY 29 20,000 0 20,000
101 Q124 20,000 0 20,000
04 IV 2ENSES 20,000 0 20,000
O EYAIa2Y oz 20,000, 0002! 20,000
SESA 2835 2,158,050 1,392,409 765,641
2 351,848
= 217,255
2 1,588,947
S ERCRE 1,451,140 780,741 670,399
2 351,848
= 217,255
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S A

M. =S 243
SRl SIIHAE K& CERE)
_ ) _ PSIEY=
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH loﬂ/'\_;ou Hlus2
o 882,037
JHE=g 2= ns 22,640 22,640 0
201 LBt2AY| 3,640 3,640 0
01 AtR22|d| 3,640 3,640 0
O =l 640
0 SIHWBZ A=) 160,000 & *221%23] 640
O nEESIIAH.IIFRALI 3,000
0 nE=sI|H.JIP?S XL 100, 000 *30CH 3,000
206 MZH| 19,000 19,000 0
01 =8I 19,000 19,000 0
O sIH =32l 237Y
10,000& x20& +x605 12,000
O s =3lcle 3e3+
100,000&*205 2,000
O sIH =342lg A28 1
20,0002 %2505 5,000
J|HLUAIE ASS 239,960 457,351 A217,391
201 LEt2AY| 83,560 75,700 7,860
01 At22teldl 47,680 40,180 7,500
O SEH(SIHLUMSASRATLSA)
7,000 #421%1004! 2,800
O gEt2g| 44,880
0 SOIHUHAIS A 29| (AHE, SHA)
200,000& x2 A+ 12 4,800
0 BASHHI(aHE, SHA)
300,000&x2 A+ 12 7,200
0 SIHUUHAIAASHRIRS| EHa4=G
70,0003 11*23] 1,540
0 SHHI(SZEAIP2FA)
7,000&*x621x70L 2,940
0 LU=sIIHEEI 200,000 % 130CH 26,000
AHAIE A 2|2E T2
200,000&+621%23] 2,400
02 35234l 35,880 35,520 360
O AEZEHl |Xid] 25,680
0 2UI=sIIAH KXId| 100, 0002 *60CH 6,000
0 ISR (FE) SXHI(ER)
1,800&*200 ¢ 122 4,320
0 =3|2lX2(3.58) |AHI(ESR)
1,800& 200 ¢ *12& 4,320
0 AU ASAIZ(1E)RAHI(ES)
1,800&*200 ¢ *12& 4,320
0 MEAUSIIH 2SR Z(1E)
1,800 %200 £ *12& 4,320
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BN SRR
A ==SA 243}
SR SI|HAY X (&2 ML)
- N = ~
2 - F3® - H2A(ZH) - HI2AY - HES 04| AroH l(m/lq.ou Hns2
SXE4H 1EXH2 100,000 %1 CH* 122 1,200
0 A2 XIAHX SXH| 600,000 *2CH 1,200
O B83e= 10,200
0 MIIQS(AHE, CHEATHANEA)
350,000 %200 Ax 122 8,400
0 MAZ22 29| 150,000 *12& 1,800
202 OdH| 14,400 14,400 0
01 2U04l 14,400 14,400 0
O OHI(=Z=2AIHR4)
200,000 +621+ 122 14,400
206 24| 70,000 52,500 17,500
WEE] 70,000 52,500 17,500
O SIHUNWAMAASHEY| 2=Z2
70,0002 x20 & 505 70,000
405 KHAHESH| 72,000 196,000 124,000
01 ML EEFEH| 72,000 196,000 124,000
O YU=IIH 2 72,000
0 Rb=Al SOIED|EEHD) 30,000, 00024 %2CH 60,000
0 2200] 3,000,000 +4CH 12,000
SIHRESEAIY-IISX 86,320 61,250 25,070
[= 39,900
= 46,420
202 OiH| 5,660 6,000 A340
[ 1,700
= 3,960
04 2HI3oid| 5,660 4,000 1,660
O SAIHDSE A5} J|=1s
5,660,000 12! 5,660
[= 1,700
= 3,90
206 24| 10,660 0 10,660
[ 3,200
= 7,460
01 ZH2H] 10,660 0 10,660
O sYI|H 8&)|£= 1S KA
10,660,000 10,660
[= 3,200
= 7,460
402 QIERIE0| ™ 70,000 48,000 22,000
[= 35,000
= 35,000
01 DIZEXH2AIHE X 70,000 48,000 22,000
O 9=I|HSAIR M5 SI|HKIR(DFHE
plp) 1,000,000« 10CH 10,000
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Sl =IIHAIY K EERED
. PSEL =
A -3 - SRA(ZH) - MRAY - BES Oll &+t Ol] AkoH HwE2
= 5,000
2 5,000
A=I|HSAE MHE SIIHN A (=FYE
&21) 6,000, 00024+ 10CH 60,000
= 30,000
2 30,000
UES =) A 243,100 193,500 49,600
= 73,000
2 170, 100
402 DI H20IE 243,100 193,500 49,600
= 73,000
2 170, 100
EEDUNSEES 243,100 193,500 49,600
O 548 =01 22 243, 100,002 243,100
= 73,000
2 170, 100
SHDSERAL-ZDBE 658,000 46,000 612,000
= 329,000
= 97,500
2 231,500
202 07t 2,000 0 2,000
2 1,000
2 1,000
01 =001 2,000 0 2,000
O =12 9¥DS SBXE  20,0002+1008] 2,000
2 1,000
2 1,000
206 24| 4,000 0 4,000
2 2,000
= 2,000
01 W2t 4,000 0 4,000
O S SHEDT 1 WRTY
4,000,000 4,000
2 2,000
2 2,000
301 LeEAZ 2,000 4,000 22,000
2 1,000
2 1,000
09 EAALIEA2 2,000 4,000 22,000
O Il QHFIIZNE & B4
20,00021+50% 23] 2,000
2 1,000
= 1,000
401 AIZHIL2 TR 650,000 0 650,000
= 305,000
= 97,500
2 227,500
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M SESAH 243
SRl SIIHAE K& CERE)
S HEE =
A - FM . S(SH) - MEAIY - BES 04| AroH lOﬂ/l\_l'o” Hlns2
01 Al&H| 648,000 0 648,000
O SOIH AAIEA AEZAHAIA)
648,000,000 * 14 648,000
= 325,000
& 97,500
= 225,500
03 A& 20HYI 2,000 0 2,000
O =I1H LUHAIEA AMESAHAE) 201]
2,000,000& 2,000
SHEXSERIZAS 57,120 0 57,120
= 22,848
o= 6,855
iy 27,417
402 SIERH20|H™ 57,120 0 57,120
= 22,848
& 6,855
o 27,417
01 QIZFAIE AR E X 57,120 0 57,120
O sJ1H S8t &l 22 XA
120,000 *476CH 57,120
= 22,848
o= 6,855
= 27,417
SIAHS2E 0 X3AS 144,000 0 144,000
402 QIZEXFE0| ™ 144,000 0 144,000
01 RIZEIEAIE 2 144,000 0 144,000
O DI23s s)H82a0 8X X3
180,000, 000 & * 1 =*80% 144,000
SZE SAF 2435 706,910 611,668 95,242
120 DSt 2<% 5,100 5,100 0
201 LBEH2AY| 2,700 2,700 0
01 AtR22t2ldl 2,100 2,100 0
O Let=8H| 1,200
0 120010 29 MREE P
100,000 *123] 1,200
O 1=yl 900
0 12001t &= 150,000 & *321%23] 900
02 s32494| 600 600 0
O 2222 2 HMAl 600
0 12001t EUHEAERZ 50,000&x12& 600
202 O4H] 2,400 2,400 0
01 2LHOIHI 2,400 2,400 0
O 0112001 S R=X)
100,000 #2021 12& 2,400
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3 g——f—%/\k g4t
CHel: SE =A 245 (=ECR-E))
S - B - C9(S0) - HRAKY - BaS o4k o HlmS2t
1203 SAEsS X2 27,590 27,590 0
201 LEr2 2| 4,550 4,550 0
01 At22teld| 4,550 4,550 0
O ge==ZH| 4,550
0. &= AEHIZE 35,000&*102!x113] 3,850
0. 120K+ SALA ZXAHIH HIE 70,000&=10¢! 700
206 H=H| 14,240 14,240 0
01 M=Hl 14,240 14,240 0
O MEOIRNZMZ Y 100,0002*4 5123 4,800
O 120=3 SAMIIERZCIREXE
200,000&*123] 2,400
O 1203 EA IIARE a7
100,000&x 122l 1,200
O 120z=2sA0I0I2M=2 7Y 120,000 *123] 1,440
O JIeEs2 M=+ 100,000 x123] 1,200
O 1202 sA MI |23 100,000&x123] 1,200
O NASAESHZ 10,0003 *105*152! 1,500
O 120K-2SAF 500A12F QIS MIZ
500,000& 14 500
301 LB AZ 8,800 8,800 0
09 eAAHIE &S 8,800 8,800 0
O 120X SAH EOtE2 13| &4
20,0003 %509 1,000
O 120X SAA =3 SAIESE A
20,0003 *1521x113] 3,300
O 1202 SAHRF 2t S| & A
20,0003 *5021x23] 2,000
O 120Kt SALtAE =X AS 50,0002 *50€! 2,500
sEII2s4xl ¥ 22 674,220 578,978 95,242
201 e | 252,220 217,520 34,700
01 At22teld| 9,500 0 9,500
O JI2sS ™| T2 )8 2|
9,500,000 *14] 9,500
02 2223l 242,720 217,520 25,200
O 2322 2 Al 232,280
0. 2SS &L= 18,400,000+ 12& 220,800
0. JIZ2S A RZE BHM=23
242,000 & *400H 2 9,680
0. JIZ2S CHEZ Al 36,0003 %5004 2~ 1,800
O Jt2s E=Xt RAIH| 10,440
0. =S 1,800&*400L*12& 8,640
NS Sl 150,000 = 1CHx 123 1,800
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NE: zE=A 245
©9l: & ZA 243 (E491: &)
- _ _ PlEL=
SN - 3 - SRA(SIH) - MRAY - BES Oll &+t Ol] AkoH Hws2
401 Al2HIL 20| 422,000 361,458 60,542
01 AlZH] 421,000 358,230 62,770
O JIRS SN2l #4648  400,0002+200S 80,000
O JI=S P48 7Y
ATIET 18,0002+1,50004 27,000
O JIRS 248 IHPY
LIEST 12,0002+6007H 7,200
O JIZS 248 IHPY
LIES Q| 18,00021+6007H 10,800
O JIRS 248 WP
HEIIKLIEFIA 50,00021+6007H 30,000
O JI=S P48 7Y
OIS I] 7 40,0002+ 10004 4,000
O JIRS 248 U7
JIEFXHHEI 10,000,002 14! 0,000
O s&)125 s 1,500, 0002+80S 120,000
O s&%125 o8 1,000,0002+30S 30,000
O S&ZI2E LHLADY  1,200,0002+655 102,000
03 Al 20HY| 1,000 3,28 £2,228
O JIRS HXIZA 20| 1,000,00024 1,000
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